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MARK SCHEME : ADDITIONAL MATHEMATICS (PAPER 1) TRIAL KELANTAN 2018

NO ANSWERS SUB | TOTAL
MARK MARK
1 .
(@) p=0
1
() ¢<0 ) "
(c) x=0 1
2 2: k=2
i 4k+2=5 - 4k+4=3 2 2
2 -4
3(a) | 1
m=—
5
3(5)' 2: p=2 3
2p _ 2
5()-1
4(a) 18 1
(b) 2: 5760 3
Bl: 4!x5Ix2 2
° 2: p=——!—+6
3h . oy
Bl: 3h(p—6)=-1
61a - 1
(a) y=x"-4x
[ Ly
(b) y=2,X=x (both).
2 " 3
’ 2
Y=ZorX=x
x .
Bl:
7 2: m

S
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Bl: m-30+(11-1)d=30+m OR m—30-;30+m 2 2 .
8 (a) 2: p=3q
B1: —3i=2—p 2
G
. \2)
® |, 3¢ a
4
: 2
6
Bl: =22/ _ 34
x |\P
g
9 3: p=3,p=-3 (both)
B2 (27 +3) =o'+ (2 3 |
L 3 .
B1: \f(22+32) or \f(p2+(—2)2 -
10 2: k=1,k=13 (bo'th)- -
. Bl: (7-k)*=36 2 2
11 3:“m=11,n=.3(both)
B2: rﬁ=11 or n=3 3 3 -
B1: n+(n+2)=-(-8) or n(n+2)=m+4
12 (a) 2: k=9
\ (=
i [12 - 5 o 17 2
k | 3 6 4
12(b) A
2: (21
| 9 / 2

Scanned with CamScanner



e el = T 16
B1; OR=0P+ PR orPR=(12J

13 (a)

(b)

2 :a=1,b=7 (both)

B1: 10=a(6)’ +b(6)+16 or 5=2ax+b

e el
' 2

B1: 0=2(1)x-7

14

(@) 50.5

(b) m=4

§(zs+m)-20
B2: 605+ 4

(20)=70.5

B1:60.5 or 8 or 20

15

3: 100 meter

B2:
JE-(1)) +(4-(=4)
BL: (-1,4)

16

No, because max height = 22 meter
B3: h(x)=-i(x-44)’+22
88
 h(x) =] (x—44Y -
B2: h(x)= 88[(x 44)’ -1936 ]

Bl : h(x)=——é1§[x’ ~88x

17

2
=y
15

Scanned with CamScanner



1 2 1 ] 3
B2:-#(1l) (1)-#|--0
570" ()-x[ 10|
.
BI : %tr(l)z(l) or Jr[%
18 (a) n=1 1
(b) +|2: p=2-¢g 3
B1; 3% =3 U ) 32 5 32e-D) =130 2
19 (a) 2: =2
1
Bl: 2log, —
Baa 2
4
b) |2: 1
log, x 1lo
Bl: log, zx 5% o —Epd or equivalent 2
log,z log, x
20
(a) L 1
4
N 1. -2 4
-J1rr =g ; Pt 3
Bl :+1°—¢° or see ondiagram 30°
t
it
21 (a) 2 : 0.00877
- 2
B1: 2562 ( see)
8
(b |2: 6*=100p-100p 4
2
Bl: o? =100p(1-p)
22 3: 7
B2: W' +1lw—-126=0= 3 3
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o (6wa((6—f)+wJ=(%)

23

3: 0°70.53°,109.47°,360°

B2: 0°,70.53° (sudut rujukan)

Bl:*1 +2

kos’x  kosx

=3 or sek’x+2selx—3=0

24

2
B2: -—0.3!!"-‘183‘(—) X —

Bl: —=-0.37 or 5‘-:§=187rh2

25

0.571rad
B3:2+@0=7n-0
B2: j+j+j0=j(x-6)

B1: j+j+j6 or j(x-0)
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